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SHORIOHEELT, HHOE (OFH) | © log, 2= log,M— log,N
O)%*%ﬁ;ﬁb\B?%‘bijo @ lOgaMk — klOgaM

L O SHOEEEROBONE - REOEAONE

FEOHMM, NERKERIIHUT, az 1 LIHOEOHETHEE
log,1 =0, log,a="1

(1) log,(M X N) =log,M + log,N
(2) logaM =log,M — log,N

N
(3) log,M" =Fklog,M

log,1 =0
L =50 1 3908l 0
log,a = 1

BIUHMDEE, WHDEF 1
(1) (&M log) =(logDF0 )
(2) (B®Dlog) = (logDE)
(3) (REDIlog) =(logD k1Z)

(1] loga% = log,M — log ,N

log, M =p, log, N=q B &,
a*=M, a°=N
£2T, MZa"‘q <« a’'+a'=a""?
N
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A, log,—=p—
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=log,M — log,N
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logs14 — logs2 B LA TV,

M
logs14 — logs2 = log5% <«——log,M — log,N = log, N

= 10g57

S KXOLICHTIFEDHZE AN L,
(1) logio18 — logo3 =logy[]
(2) log,9 — log,3 =1log,[]

8 log,M* =Fklog,M

log M=p &P E,
a’=M
Ol %E kETDE, at =M
WwxI(Z, log,M*= pk =Fklog,M

WHOMBZRNT, WHDOSEZLTHELD,
(1) log316 (2) logs27

ROLEHTIFFE2E & ANET L,
( 1 ) 10g49 = D 10g43
(2) loge36 =11

B J¥oEIEROEDONE - REDIEHDUE

Bl ) RDEtEZ L1IETW,
(1) loge3 + logg12 (2) logs/6 — logs4/2

(1) loge3 + loge12 = log(3 X 12) (2) logs/6 — log/2 = 10&%
= logs36
go , — log3,\/§
= 10g66 1
= log;32
= 2log.6 :
= ; X1 = 510g33

N =N

RDEEE LRI, 5
(1) log,2 + log,32 (2) log6z + log8
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Z=1Xx7=9%0[g = Z99801 = 9¢980] = (g x%)‘ﬁﬁol = g%3o + %9801 )

€ =1 X g =P"80[g = y"80] = $9"80] = (¢ X ¢)"30[ = Z¢"30o[ + ¢80 (1)
2 =1X 7 =9%80[g = ,9%30] = 9¢?30 (7)
g¥8o[g = ,£"80 = 6”301 (1)
€ =1X¢g=£80] = /Z*80] (¢)
ZF80ly = ,F80] = 9| £30] (1)
3

€80l = g ¢80l = ¢80 — 5301 ()

Qvt80] = i0130{ = ¢80 — g1 %30 (1)
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